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FM IMPORTANT AAJUSTMENTS

Q) Prorir & Jloss Sratemenr -

For RATIO AnALysis Foe OmHer CRAPTERS
&ALE ZALE

% CO(f& = Varzable Exp
Gross prof;it CONIRIBVTION

77 OPWOﬁﬂé €xp = CGixed opar- €xp
€eIT €eIT

= (nterest = [nterest
£BT ger

= _fox — _tfox
€AT EAT

= _Pret- Aivid — _Pre}- Qivid
CATESH CATESK

= _&9- Aivid = No-ofy eqshares
Retained Eonn: EPS

@ BaLance SHeer CCO'MMW fov all CMNP{:W.Q

Lzabilities Ass ks
€q <have Cop FA - Plant € mjc
R/surplus Building & Fomitwre
Prefevence (nvestent & Intangzbles
NcL - At o loan CA - Atore
CL - Creditov Invemtory
o/s exp Couh & Cosh €q
. 0A Prepoid €n
@ Ej\:‘:me neeme Let'SifZVgC:,:f' ’i&,’,’:ﬁ s Way
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A é
RATI0S
@ en = avning before Tnerest & Tax = Operating Profit

@ Ope,ml‘inj é)tpemu = Admin Ok + tw.:q; o + JAistrzbolion OH

@Totd oPero.tz‘nj cost = Opuatz‘n‘, Exptnses t 0¢8"

@ | Operating Exp- Ratzo Opwating Projit Ratio ~ _Operating Ratsd
Opesating Exp Operating projyit COgs + Oper-Exp
Sales Sales Sales

@) Total Assets = Total diabjlities
Fixed Assels + Current Assets = Totol Capital + Total Liobilites

@ Totat Capital = Equii')o + E/.swPlu.c + Prej'uu\ce + Qebentures
Total Assets — CL Total Assebs — working Cap-

@ Equity sihjund or Shaveholders equity = €quilp + Ffsurplve

Net worth or Shareho|dess bvml or = 5quit)a + R/smp)us + Pfetcre»ce
Proprz‘c’tor's Fund

Let's Solve Cost-FM-SM in AB's Way (Y +917903479393
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®

Return on (apital Emproyed = €RIT
(apital Employed

Icar may Sometimes take , EBIT(I- tax) but we Shovld qlways take EBIT:

Returm on Asseds = cRIr (1- tax)
Capital €mployed

IcAT may foke @AH m@ or EAT o any other amount. but should onlp
take £8IT (I- tax)

Ratia Related to Lividend

Dividend Per Bhare dividund Payovk Dividemd Yeild
Totok €9 Aividend APS QPS
Tatat No- o}y €q Shares €Ps MPS

"To" means Diviae

ICAl Ques 2 Any Formvle

Basic -Gejemce [ntenval means How many quS Company Can Survive
on 2fs exl'sﬁng Quick Assets - It says How many d"Y‘ . Ccompany can

Continve incmn‘ng its Aail}o opexah‘nJ Erpemses (cogs + oper- kop)

B ﬂ 7903479 E Let’s Solve Cost-FM-SM in AB's Way
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Probz‘m‘aloilit)o Raho - Any Prob-it or Any ©xpense
&ales
(@3) Retum Ratios - what I Eann
What T Invest
Tuamover Ratio - &ales
Whose Tumover (s Acked
Inventery Vo debtorz To Creditors T/o
Cogs Credit &ole Credit Purdhase
Invemtory debtors Creditors

* Iy details o)y Opwnzng & Closing are auailable we Use - AverAge
e Ib Receivable T/o is asked ULse <Jdebtors + Bz2hs Receivable
* I Payables Tjo & asked vse Creastors + Payables

COVUrdae Ratzos .- Whith Invome will cover
What Expense fo cover

@ Ib Qves provfde:. 360 or 3¢S days —* {ake what is 32‘vm in Gues
I Ques says about \Jear emded 31" marda 2025 — take 3¢S days
I} Ques Says nothing — {ake 360 days.

Let's Solve Cost-FM-SM in AB's Way (Y +917903479393
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Current lz’ab'nlit')a includes Bank 04 , So dovt Substract it from L

DU PONT ANALYSIS -

ROE = Ner PRoFIT X Asset Tuenover  9¢ sQuITy

RATIO RATIO MuLTIPLIER
EATESKR - Nebpropit  9¢ &ajes X Totol Asselz
&q-share cap Sales lotad Assels €q-Share op

In odebt to Equsty Ratio we onlp toke long term debt: (mrr-acccn)

e +917903479393 Let’s Solve Cost-FM-SM in AB's Way
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Leve RA&&S

[ _propat o Where reathed
2vd profyét Y+ Whexe started
0] OPexata'ng Contrzbuhon s Cha!gg in EBIT
Lwe/vcve, EBIT e Chan‘je 2n 8aleg
@ F2nancal [ No ]£B_|T ) Change Zn €BTer EATor €PS
-LQNQI(%& P'% | €8BIr-Int /. Cha"‘je n €BIT
[i)reb ERT
qul] EBIT - Int - PO
a-t)
(3| Combined OL XEL OLXFL
&wmye

@ l'b Qe Cays €ps \feu to O means 7 charge n €P6 = (00/ (D“”‘)

()| Margin of Bapetp (Mos) = L

oL
or Opuading Lewwq‘?e rM_l.
0s

@ DO0L and AFL Can never be [MORe THAN 2&Ro BuT JESS THAN I
(not between 08 L)

Let's Solve Cost-FM-SM in AB's Way (Y +917903479393
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Iy OPVah'nj \wuaﬂe. s Hiak. , Bk is alse Hiﬁb'

NEVER UsSe CL, to calwlate EBIF or EBI or Cantsibuber
CL s used M\\)a . to calowlnte FL or OL

Ib. FL and EBIT ave a\ready givm . dont calwlate Inrerest dired'l)r
b)o Jehentvre X Int /- (W\'mg)

Solve Like this FL = EBIT
€BIT - Int

Ib. FL and Int ave a\reaoly givem , Solve Like this FL = E€BIT
€BIT - Int

(Y +917903479393 Let's Solve Cost-FM-SM in AB's Way

o cisrcosrmusing O] ous tnvsna




CA Amit Sharma é
(Yours_AmitBhai)

CaritaL, StrucTure
() Always prepare Profit & Loss Statement first . them coleviote Eps -

@ Iy Ple Tatso is also givem . Calwslake Mps = €PS X PE Ratiy

@ Most (mpoftqnt Calwlation 15 No-o)-shares -

* If we «lread]o have old eqv'ﬂ;o Sfcap - Ola Nos = Oh:_ :q_uitly ;Zm
ce vVa

¢ Ib— New G’-‘(vi*y S/ca.pii'aﬂ Issved - New No0s =  New équi}? s /cap
(ssve price

@ To calwlate €PS and Prepare Propit £ lass Starement EBIT is must .
bvt How to z’dunh'br i.b we have b Ute SAMe EBIT or EBIT CHANgEs

L )
EBIT is Constant EBIT changu
Ty no details about chanye in /\
EBIT er only one €BIT givem .
Use $hat Ohlp- Ques Says New Ques uses Fhe

EBIT s T..... Wovds
* Ro| s Constant

* New RoO) is ¥

Let's Solve Cost-FM-SM in AB's Way @ +91779O34793793
G FASTCOSTFMSMbyAB (A) FastcosTEmsmbyAB
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©) 2t to Equilp Ratio = Adebt , but in one Bves ICAI Gave -
Equilp

Debt t Equ“)o Rakio ° JAebt , (8o fotlow Ques & Lolve U.cl'ﬁ this)
S/hfund

@ F2nanczal BEP = Interst + Pre‘-wence Aividend
[- tax
B0th a lewel of €BII where €PS =0

P INatfrepence PoINT IN CAPITAL STRUCTURE - Suth a EBIT level
Where €PS of ophom, = EPS oy ophon,

(e -me)(-8) - P8, (EBIT-nt,) (1) - P4,

No- o} €q Shares, No-of €q Shaves,

(Y +917903479393 Let's Solve Cost-FM-SM in AB's Way
@f  cestcostrusui B ors smiza
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CaritaL Structure THeorIES

(D There = enly équz‘i] £ Debentures and, No Preference s/cayp -
and total assets oy [jitm awe fixed: To raise debt ,<ell Equity and

To rause 6qu‘ly , Seld debt -

@) 1607 €ATESR is distvébuted ax Aividemd . So 70 Rekained €annsnga.
So ZATESH = Total Lividend -

® Lije of Busimess is Injenite (°°) , So use (00 formula) - Trvedeemalble.

Valve of Equity =  Totod dividemel Toka! EATESH
(Ve) ke ke

Valve o Wbt :  always given Interest (I~ tax)
kd

@ o if a fjérm hes enly Equitp (vnievered frire) E/alw Fam - Valve.iqmr]

= Totol dividemd Total £ATESH
ke ke

() o 4 a fiom has botn Equitp and dewt (Levered Fim)

Valve o F2tm (V)= Value of Equity (ve) + Valve of Aebt (Va)
EBIT Totol dividemd + Intorest (I- tax)

< ke ke o RIS

Let's Solve Cost-FM-SM in AB's Way

o FASTCOSTFMSMbyAB Yours_AmitBhai FASIOS TP NSNS




é CA Amit Sharma
(Yours_AmitBhai)

Ner [ncome THeory explains that for two diffjurent firme

EBIT (s Same . ke is Same , kd is Same . bt ko dijgorent
o in NI approach valve of two firms are never came (untitl

|CAl makes mistake)

NET OPERATING INcome WITHOUT TAX explains that fw two dify, - firms -
EBIT is Same . ko is Same . kd is Same but ke is dejjeremt
Soin NOL without fax valve of two fyirms are same always (Until
[CAl makes anp mistoke)

MM APPROACH WITHOUT TAX is Same as NOI WIiTHoVT TAX and
only jor MM approath withoyt tax . we cam calwlate ke in levered Jc'rm

ke 2n (wwered jfrm = ko + [ko-kd] x &
in MM withovt fax Of lwered firm %"“6_‘?:3: €

(re.membw ko lewered firm = ko yntevered b‘"")

NEr OPERATING INCOWME WITH TAX equals MM APPROACH WITH TAX

Valve of Unlevered girm = Total dividemdl Total £ATESH
ke ke

Valve eb- levered bim = Valve of Unlevered b-b‘rm +  Wdebt x tax

ke in lowered frivn kel + (ke - pd) x _dept
_ ; unley five Unlew sfyivm
g h Let's Solve Cost-FA?-'SM in AB's Way .o +e
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Z IVIQ”ASN D

@|Divaena DiscouNT - Py =

D
ke

@ jomon f:owm = Py =_Do(1t3) 3 = bX?”
Ke?/. - g7

- . (reps
b = Retoun Ewm Pey share ¥ = Rol ov ROSE

€Ps

@ Wactee - Fo = D . ReEPSX Y
Ke KeX ke

@ OPTImum QIVIAEND POLILY -

d d l
ke > ¥ ke = ¥ ke < ¥
pay Entire £PS as Aividend P‘\‘[ any amovnt ag Aivd qu O dividemd

@ Ao o AiVEdmd Pdd ’ Kecmtly Paid -’ (ompq”p qus.

Ay = Im any othey Case-

@ Ib.k,, not yéVem Ute ke = E€Pps s
MPs PE

Let's Solve Cost-FM-SM in AB's Way (Y +917903479393
o FASTCOSTFMSMbyAB FASTCOSTFMSMbyAB
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Total BV be.jure Bugback - Bupback Amount = Total BV ajier Buyback

Total Shares x Bv por — Neofp X Buybak = NeofSharyg x Bv per
before Share before Shares price o tor Share after
buybacr buyback buyvack buyback buyback

MM APPROACH AIVIAEND NoT PA(D MM APPROACH AIVIAEND PAID

Shpl:' Po o Pl Po o Pl + 0

(l1+ke)! (1+ke)!
Stepa:- Dwest = Eanning Twest - (Eanning - divpoid)
Step3:- Neoj new shavey = Step2 Step2
S +e.P l S +e.P l

Steplt’- Total - Rbld +New)Shares XP, |- L 1 & ROId +New)shares XP, |- L +&

Valve
Steps - Presemt valve = Step ¢ Step 4
(Itke)’ (I+ke)’
GRAHAM ¢ A0S MODEL Py = [—a + %E&]X mMoltiplior

dinters Moact 8 = &y + [€Ps X tamget payout — Qo] X Ady. facter

(Y +917903479393 Let's Solve Cost-FM-SM in AB's Way
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(D | Reagemagre -

ﬂgb enture Er;terem.e

kd = Int Q-4 + [RV-NPl kd - Pres-2ivd + fkv-Npl
,'{fe' _lz'j'e.

[Rv-Ne] [Rv- NP

2 2

Rv = Redemption Valve means amovat pad at end oy e léfe to the
helder ob dc,bl:/Preb-- Ib V\ol'hfr:] jinm take RV = (00 -

NP = Net Proceeds means amovnt Treceived ab t2me °b [ssve o Shaves

Face valve

+ Premium (Calwlake on face valve)

- Qiscount (Calwlake on face valve)
Issve prace

= Float Cost (lalwlahd on [ssve pn‘u)
Net Proceeds

@ Conjjusion abovt what to toke As Net Proceeds (np) 2
It only New |ssve Prace '72'"#! NP = New )P - F¢ (Calwlated on NewIP)

I omly Mps s 32’vm NP = Mps - Fc (calwlated on Mps)

*1} both are given NP = Tp - Fc (Calevloted on IF)

Let's Solve Cost-FM-SM in AB's Way (Y +917903479393
G FASTCOSTFMSMbyAB FASTCOSTFMSMbyAB
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Cost O CaritaL

REDEEMABLE + CONVERTIBLE
When the Queshion is abovt Redeemable + (onventible Hept or Pre\fzrenu.
ivmy{-hz'nj will remain Same but . inplace of RV we theck

Hz’gbu o = Amovnt received. No o sharesto X M of

ak end be received in place  eq-share
o) 1 debemture on red' dake
TpeeacemaeLe
ngenj;vrg, Ergterem:e
kd = Interest Cl-tax) kp = _Preference Qivid
NP or MPS or IP NP or MPS or |P
or Po oY Po

YTM or |RR METHOD

Years  CnshElow  PVF @ Ratel  TotalNpy;  PVF @ Rake,  Total NPV,
0 (NP)
1 Int(1-t) or PA
2 ”

o me

Kq or kp = Lower NPV whem lower Int rate vsed x il of
Int Rate NPV whem lower — NPV whem Higher It Rate
Int vate Used Intvake vsed

TiP - First Solve S;mPIP , them aPPI\' Y. ak the Ve}q] end -

@ +917903479393 Let’s Solve Cost-FM-SM in AB's Way
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How to J'dembbp whith Two RATes to take 2n YTM method ?
°Ij Ques Qlready yivu PVF of two rats — Ute them
-l], no ratey yivm — Solve tme Gves bp direct Jormvle and {oke DYe rale

Sb’ﬁht(y abave 2t . One rote sl:‘ﬂht\r below 24

CAPM METHOR ke = Rf + B(Pm-R))

Ef = Risk free rate * Rate en T- Bills oy 90% B:ll
Bm @ Maskel rate of retum
(Bm- Ry simply Called a1 RISk PREMIUM.

Company issveg Il yeay IS/ debt - But yejld on Similar debentvre is 167,
and ‘floa!: st is 2/ o Face valve - Face Valve = 160

Int = looxiS7 =1S Yejld expected. = (67

So Pvz'u of debt - Int =g =493 18

Yeildy. ley-

Net proceeds = [csve price = Fc (onface valve becavse Gues toldso)
q3-1s - looxey/
U T

Let’s Solve Cost-FM-SM in AB's Way Q +91 7903479393
a FASTCOSTFMSMbyAB FASTCOSTFMSMbyAB
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Calwlate amovnt that can be raised for capitat investment before new
Chares are (ssved . .... CHeCk VIAEO SOLUTION:

@) weigurea AVG- COST OF CAPITAL
C_dez'l'a! Awmount wu'ght Cost WACC

(market weight)
ov
(Book valve weight)

MARGINAL CoST OF CAPITAL - simply means WAce but en basis o the
Amount laised newly -

@D MARKeT VALUE WEIGKT OF £BUITY 4 BETAINED EABNING

dets Sayp Book Valve of Gqsisba = [Lshover X100 = 10 (akl
Baok valve o R/gwom = Z 20 Qakl
MPs of €9 share = 4S/share

*If Gua says Caloviate WACC onbasis of Bookvalve we an Solve easlp-

It Qua says @lwlete WACC on basis of Market Valve . We have the
market valve of equitp = ZUSX (Lakm * 2 US Lokl

but market value oly R/émm =D

o we distrzbute Totol MV of Equilp between €q £ RJE [n rabio of. BV:

market valve of equilp =  USlabin X 10 = ZIS Qo
lot20

market Value off R/Eom = Yslabwx 20 = I 30 (abi

' ' 10 +20
@ +917903479393 Let’s Solve Cost-FM-SM in AB's Way
of oo ST O T




CA Amit Sharma é
(Yours_AmitBhai)

Depror’s Managemenr

D &valvation of Credst Policy on Totality Basis :-

present  Proposed  Proposed
Policy L Ir

Total &ales
=  TJotal Yavzable Cost
Total Fixed Cost

=  Total Bad debbs

=  Total Couh Miswounis
éxped'ed Net Probél:s Before Tax

- Tax

(A) €xpected Net Profits Apter Tax

(B) Opportuwmity cost dter tox

(A-8) Net Bemifits (I net Bemifit is +ve accept)

() @ometimes I¢AL omlp subtrads vaviable cost amd l:?nore; Fixed cost,
but we have to svbtrack both Varéable and fixed cost alwaye:

@ OpPort (méf} cost s always (alevlated on [Tol:«l Varzable Cost + thedcost-]

(a"qn“""“ puiod)
= (Totw V¢ + ToruFo) X oppaost /- X «Days ‘money (s shuk
Let’s Solve Cost-FM-SM in AB's Way gq‘yg ®d‘3“ﬁs ."Laﬁ e
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© L Net 6o d“)’s = Read 2t in Reverse Ordes -

o deptors ghovid Pa)a max- in 60 days
But i they pap n lo days

Ther 30!' dis coumt of 7 of Gale-

o tv calwlate Adval Amownt of Aistount = /- disc X [otal X 7 g debbors
8ale  Who aval it

(@ | Amaunt of Acbtars = Total gale X 7/ sale dove x _Aebbor days
on wedit 3to ov 245 days

@ For Fad'au'nj ~ Thewe 2n Ewbire &Psvah Vadeo -
Search, Fq:.ton'ng br CA Amit Bhar "

(Y +917903479393 Let's Solve Cost-FM-SM in AB's Way
@f  cestcostrusui B ors smiza
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Iorking Caritar

(@) Operating Cycre - Current Assets dAYs - Cvrgenr LIABILITY RAYS
= RM + WIP + Fp + Aebtors + Prepaid €xp — Creditors — 6fs expenses

days  Ddays days  days Aays days Aays
* RM Aays s 260 or 36S days or I2Mmevthe x Bm chocke
R Censvmed
* INIP Qays = 260 oy 36S days or I2menthe  x (P Shock

Cost oy produdhiom

. [:? AQY_‘ = 360 0y 36S days or [2months 5 {.‘? Stock
Cost ofy goods soid

',Z)th-or Aqys-? 260 oy 36S days o I2months  x Jehtors amt
Cred:st Bales

° Pre.lxu'd GXP = 360 oy 3CS days or 12 months prc?a“d Exp
Aays Total expences awmt *

o Creditors ,qus.- 360 oy 36S days or I2months X  credstors amt-
Credit purchases

* Ofs Exp bqy_s = 360 oy 36S days or [2months X ofs €xp Amt:
Total expences

@ WORKING CAPITAL AMOUNT - TotaL Cveeenr Assers — Tetay Cureent LIag
AMouNT AMOVNT

Let's Solve Cost-FM-SM in AB's Way (Y +917903479393
o FASTCOSTFMSMbyAB (A)  FastcosTFmsmbyAR
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= RM + WIP + Fp + Aebtors + Prepaid €xp — Creditors — 6fs expenses
Amt: Awmt- Awmt- Awmt. Amt - Ami- Amt '

° RM Amount = RM Censumed X RM Aq?.g
360 or 3¢S days or |12m

° wrp Amo\’“-t s COS{ OI' pWJUC*i‘V\ X l&”PA‘Y.‘
S¢o or 3¢S days or [2m

* F¢ Amount = Cost of Geeds Sold X Fe days
S6o or 3¢S dqys or |2m

* Debtor Amount = _Credit Sales X debters days
S6o or 3¢S days or [2m

° Pl‘lpa :d fxp Amount = Total €xpenses X Prepaud €xp dans
360 or 3¢S days or |12m

o Creditors Amount = RM Purchased X Creditor days
S6o or 3¢S dmls or |2m

* O)s Exp . Amount = Total €xpenses X 0/s €xp-days
360 or 3¢S days or |12m

@ Most Tmportant Hn‘na in workzing copital chapter is (Cosr- Sheer-

@ +917903479393 Let’s Solve Cost-FM-SM in AB's Way
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$
Furyr Cost-SHeer

It is used only 2a the
Case of Ope\'ahinJ days
Questions -

RM ¢onsumed
T Al
t dexp
PRImE CosT
FoH
+ op- wip
= Cl- Wip
FAcrory CosT
+ Adwmin RTP
CosT oF PROAVCTION
+ 0P Fg
- Cl* Fg
COST OF §0As SoLd
+ @en Admin OH
+ 8o £ Aist o
CosT OF SALEL
+ profat
SALes
/s RM
+ Rm purchased
= ¢J]s RM

RM consumed

Let’s Solve Cost-FM-SM in AB's Way

!
New Company

It is used in case o

New ComPany Qves.
No opminj data

BM consumed
+ AL

t dexp
PRIme CosT

Fou

+

= dl- Wip

FAcrory CosT
+ Adwin RTP
CosT oF PROAVCT)ION
+

—-Cl' F¢
COsT OF ¢e0as SoLA
+ @en Admin OH
+ Sl £ dist oK

CosST OF SALEL
+ pvo(,.i’c

SALce

+ Rm purchased
= ¢Js RMm
RM consumed

$
OLA <CoMPANY

It is used in case of

OH. CO‘MPan Qva:
No opng £ clsng data

RM ¢onsumed
+ Al
t dexp
PRImE CosT
Fox
.l.

FAcroey CosT

+ Adwin RTP
(osT oF PROAVCTION

+

COsT OF Go0as SoLd
+ ?m Admin OH
+ Sl £ dist oK
CosT OF SALEL

+ profit

Saies

+ M purchased

RM& +917903479393

G FASTCOSTFMSMbyAB
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(1) Cost of Predvction
(1i) Cost of ales
(i) F calcvlated at

(iv) Debtors calwiated at

(Y +917903479393
B FASTCOSTFMSMbyAB

CAsn_cosr_AppRrOACH

CoP - Aepvu‘ tiatZon
cos - .be.Pn‘a'qta'w
CopP

Cos

ToTAL APpROACH
Cop

<Cos

Cos

ales

Untzll e qouh‘on asks vs - Try fo Ute CASH Cost APPROACH To CALWLATE

wovkina Capetal amovnt -

- Try T vse ToTAL APPROACH TO CALCULATE the

opevatiny Aays-

WIP remains Lame-

© In Doubte Shift Ques RM - F¢ - debtors - €xp - Creditors DOUBLEL-

Onlf Varzable Cost dovbles . b—ixed cost remaing Same.

Let's Solve Cost-FM-SM in AB's Way

Yours_ AmitBhai
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INvesr¢~9 Decision

(D RePLACEMENT DECISIONS -

New 8ales - 0Old &ales =  Iner- &alex
&) New Ve - 0ld ve = Iner ve
New Contrzbulion — 01d Contr: bution = Iner-Contribution
& New Fc tak - 0l Fc cash = Iner- Fc casl
©) New Aepric_idtc‘on — 0Id Qepriciation — Iner- Ldepriciation
New €BIT — old €8IT = Iner 81T
) New Tax - 0ld Tax = Iner Tax
New NOPAT — 0ld NOPAT = Incr- NOPAT
) New Aep'n.c_z'dtc’m — 0Id Aepriciation = D’crubgpn'cz'atim
New CashFlow — 0ld CoshFlow = Iner-CashFlow

) Ovtflow Can occor in any yeav . not [ust Yo -

® *Working capital is an oukflow and can be heeded in any year.

* In most o the Queshions . ques Ziselfy Spedijies thot w:-cap amount is
received back . So éts an Inflow: at end of life of progect:

* And i Quu downot spedify. always assume - 3t ic received back at end

of lefe of project:

@) Sunk cosT & Atocared Overnends Never form part o expenditure:

Let’s Solve Cost-FM-SM in AB's Way Q +91 7903479393
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@ Calcvlation of Ouiflow = Purchase Prace of New Acsel
() Sale Pre'ce o) 0la Assel
) Capitat ain Tax on sole

e Capital Loss Tax Save o sale
& &ubsid

(t) werking capital Invested
Total Outflow

@ Calcufation of Amt. for dep'- Purchase Price ofy New Asset
() &ale preee of 0l Asset
) Capitat Gain Tax on sole
() Capital Loss Tax Save om sale
® lvbs;dvy

Totat Outflow

Year|  Year2 Year3 Tax = 3o
Nopar  (lolarw) 1Sfakw 30 2ot

@ Cavry forward of loss Atlowed

Yearl  Year2 Year3 Tox = 3oy
spr (olww) 1Sfakn 30 fats
) tax 3o0/. - 30)-x (1s-19)4  307.x304
/ = (s 2aks) \ < (9 1ekn)

NoPAT [ (lofakn)  (3-SRakw | 212akh

No tax Tax ov net
inyear  pvojyit in

L) n r.
(Y +917903479393 o lo ext yea Let's Solve Cost-FM-SM in AB's Way
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G FASTCOSTFMSMbyAB Yours_ AmitBhai

CA Amit Sharma é
(Yours_AmitBhai)

Carry forward o} loss Not Allowed

Year] Year2 Year3 Tox = 3oy
SBIT (olarn) 1Sfakn 30 2on

() tax 30/  3ofx oL  3o)Xx IS4 307.x304
/ =34ap  slsaan)\ = (9 lokh)
NoPAT [ (#fakw)  lo-Slakw | 212akh

Tax save NormZ
2nVearof  treatement
Loss in next year-

Untéll fhe Ques asies us to or the Bues specifies, D0 NoT CARRY Fwa Loss.

Whem the Auestion specib-fu , there are " Other assets in block of Qssets "

* If there is Cafe'tal Jau'n on Sale of Asset -
Noma!l_y we pay Capital jm‘n tox ow 3k ., So it isa kind of OuTFLow -
But Here , we dont pay (g bax rather, we reduce the WAV of Block of Assets.
So Tax qua‘na on -Oe.P 2's less.
So Bewmifit received :s less.

o If there is Ca.fe'tal loss on Sale of Asset -
Normally we save Capital loss tax om it ., So it sa kand of InFLow-
But Here , we dont Save Capital losstax, we Ada to the WAV of Block of Assets.
so Tax qua‘na on dep 2s more:

So Bm'ibil' received s maore:
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